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DUNRY!

ICTALT
FINAL TEST OPEN BOOK NO LAP-TOP (100 menit)

QEL’)( CHET(IcA E Student ID #: (2801204

You do not need any extra paper, write down all your answers right here ! Use the back page if necessary.

1. Why should we learn about ICT (70 points):
- Developng) e technology proudes a dremenclous  opfportYvI By cor

d@V@(OPlnj cAUCH ON oo emeny ano lﬂ:mln_g ProcsS 1N schools.

3. List 6 (six) examples of the teaching Format (5 points):

Talk and chalk B
(pecch ~ resentahon

4. List 6 (six) aspects to support the teaching skills (5 points):
Experience ¢yt e tedinique
lent lcnowledqge - methodolos

Sty —Curcle

4. — eXxam

5. In one Bc))f your group assigments, your group has made a visit to an ICT facility for education (70
points):

(a) Name the ICT facility your group has visited: __SME Nurbarye Tdung
b) List 2 (two) examples of hardware, software and humanware aspects at the ICT Facility:

Humanware aspects
Wind OwS
moule unuy _ ] compurer qu'm-ea:s

6. Your group has interviewed a practicing teacher to make an assessment on her/his mastery in ICT
and how he/she uses the ICT to support his/her job (70 points):

(a) The teacher's name: P\ahma-l , pd place of work: £ Nukarya (wdun ng

(b) His/her mastery of ICT is (circle only one answer):
* Extra Ordinary * Good * Not Quite Good

(c) Explanation of 6(b): Kn e Clb(l\y 0F Ae cicher (s § Al Lecauce
an gue helP srudents w0 vaderctand Wwow (0 operalre
and Students  wli not get boled:

(use the back page if necessary;
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You do not need any extra paper, write down all your answers right here | Use the back page if necessary.
7. A society where the majority of its population earn their living as information workers is called an
m?grmaﬂm Leeed society (5 points). What do Information workers do for living? (70
points) Answer They A€ _Producind Cecsing dwinbuhmg (npormagiian
ProcdduCing e Lnposm aHen technolo c

Examples of information workers are (give three more): Teachers,

8. There are 3 (three) levels of Information Systems, from the lowest to the highest (70 points):

P Manua l - based Information Systems
3 Eqﬁ_@ HCT - based Information Systems, and
3. et Oric

- based Information Systems

8. What mode of communication did Shannon and Weaver's model of communication
originally represent? Answer. _ StimplcA  ode mode. 2 (two) other modes of

communication derived from the same model are: (a) full sup lex

10.  Create 16 (sixteen) different “4-bit binary codes” to identify 16 different persons (710
points):

A: 0000 E O

B: 00| | F: O(0D ~C 1o
CoolO  laonb
D:000\  [H:0O\0 LYo e

11. Write down your answers below, or use the back page if necessary:
(3) IF each letter or character is coded into a 10 bit binary code of information, every word is made

up from 5 letters in average, and the content of every page is about 500 words in average, how
many bits of information are there contained in a 250-page book? (5 poinb.

(b) How many books about the same size as described in 11(a) can fill up an 8 GB Flash Disk? (Note: 1
B(yte) = 10 b(its), so 8 GB = 80 Gb)(5 poinb).

mge - XSO Fesl” ek Pty "
words -~ * $9C - = 80 ge > & 000 ™
- 90 »x$ ~ €00 = o 000
. 629 .000 % (0 et 7.5
6250 000 ld - (2 Qo0
. c oofl€

o § Gk pOM f-[qck dst Hal i< e 12800 Pe°
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